e bnx—+1m('$'o z) AN TRl S

L AT X e R
AR R Lo f ]m (f50 "9() d')L —_—
D A %( T B e 420, AR R TR AR PR S AR R

- WA S, S 50 [{%e) T TV PN URCENR O o)

| eI e

i
e R | 4
SSERNN o O R




et

7

4

i

e

s ) s(u-)u\.//'a i
Dato’

i s At
e sl i

aot"( T PR e e

J

oﬁ_l

Jéw"

=

oy 4

= x(t

% e  hroum hoo

q — N 2
o,
’*.-'lr &
AT
f L
% 4
(1=3)(x=Y) dx
)'— ]
il
A
e
=
5
T
s
N
g
A
s
ch
R
sl e g
.
e
£
i
S

e %ﬁn-t’fm/

LI CICUET

R
LA




> { e dx___f( i fr x)) dy""““f‘*‘q [ HOdxoen
O ot

O

C

— 0 )
e ,




i mnd SUCSSIE TR
J — - Sl Ao
s s o e e e e i 8 e, W 1

(? ] § 1% e S

L | Sl S

B () - Jx"léxé[_fﬁ_}f;_"f .

BT o ACSHCHT NI e e

s 2t (% =) f e fﬁl&




